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NH,NO(s) + Y#kJ ———"» NH_*(aq) + NO_(aq)

%
CaCl.(s) ——2> Ca'*(aq) + YCHaq) + AYkJ
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1mol CaCl, 83 kJ

k] =2.22 X X
K 9 CaCly X ratt, * Tmol CaCl,

= 1.66k/
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YC,H, O,(s)+V#YO.(g) — V\\¥CO(g) + Y\ -H O(l) c AH=-YOOY-kJ
S T e e R
1000g % 1 mol 657H11006 % 75520 k]
1kg 890 g C57H11006 2 mol 657H11006

2k] = 1kg x = 42426.97k]
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YAl(s) + Fe O (s) — AlLO_(s) + YFe(l)

Q=mc46
00J J
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15.24 k] x —— = 100g x 4.184

A6 Af = 36.42°
1% g°CX = 36.42°C

2mol Al x 2294 152K _ 8992 96k]  AH= - 822.96 k]

1 mol Al 1gAl

SASly T o H(g)+I(s)+OVK — YHI(g) plewdges 251y a4 42y L P
8 e s FYIO kfmol ™ I).;;(.x,‘u::} a8 L‘,_gt:jT Lbedaly a8 Lles 1, H (g) +1(g) — YHI(g)

Hlls padleS (b (930 Gub
1) Ha(9) + 12 (s) — 2HI(9) AH1=53 K] wile (g0 ' (y9 (ST
2) |2(S) — |2(g) AH,=62.5 kJ S oo (=) e Iy o1y oyl
H2(9) + 12(9) —2HI (9) AH=AH;+(- AH,) = 53kJ+(-62.5kJ) = - 9.5 kJ
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Jsl4id> r- > An(Hz) =0.2mol > A[H,] == —=01 molL™!
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At = 20 mi Lh L
= X = —
o min 3
_ — A[H 0.1mol L1
R (L) = R(H,) = [AtZ] = ml(;l = 0.3mol L"*h™?
3
i Pl > AN(H)=03mol > A[H,] = 27% = 0.15 mol L™
At = 40 mi Lh - h
= X = =
M2 60 min 3
_ _ -1
R () = R =202l = SI90L 0925 mol. 171 A7t
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5l eolizal L 1, CyHy(g) + Hy(g) — 2> CyHg(g) STy AHA

;L:.Q'Dc_:.aayGM@HM‘&LJ}‘ﬁ&&.f‘)MP'ﬁ)‘OLLLML?(AAH(L‘—J

AH = (Lé oid0 (4iiS] 4 (s su wls ‘fIJLI.Iff‘}AM) - (Lé a.uj/)ég.@# wlo ‘fJLu/ﬂf‘}AM)

AH=(4 C-H + 1 C=C + 1 H- H) — (6 C-H + 1 C-C)
AH= (4 mol x 415 kJ mol™ + 1 molx 614 kJ mol™ + 1 mol x 436 kJ mol™ ) — (6 mol x
415 ki mol™ + 1 mol x 348 ki mol™ )

AH= 3320 kJ — 3274 kJ = AH=-128 kJ
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CoH4(g) + 3 02(g) —2C0,(g) + 2 H,0 (1) AH;= -1410
CoHe(g) + g 02(g) —2 CO(g) + 3 H,0 (1) AH,= -1560

H, + % 0, — H,0 AHs= -286
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